7.2 Trapezoidal Approximation

NOTES

CALCULUS

Write your
questions here!
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The Definite Integral
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Trapezoidal Approximation for interval [1,3] with n subintervals
How close is it the true value?
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Given the definite integral _f(10 )

(a) Use the Trapezoid Rule with three equal subintervals to approximate its value.
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(b) Is your answer from part (a) an overestimate o
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(c) Calculate the exact value on your calculator. Compare to your answer in part (a).
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The rate at which customers are being served at Starbrusts is given by the continuous ().
A table of selected values of (), for the time interval 0 < < 10 hours, is given below. At

= 0 there had been 200 customers served.

Time
(hours) 0 2 3 6 10
O) 37 44 36 42 48
(people/hour)
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Use a trapezoidal sum with 4 subintervals to approximate = ()
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Approximately how many customers had been served after 10 hours?
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SUMMARY:

Now,
summarize
your notes

here!
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